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FIRST PART B L L B 1R
General Mental Eligibility [T AHTEeh Jrder

. . ?
1. How many squares are there in the 1. fope far W foham o1 & -

following figure ?

.\\ ———— : —
Pa el Fa N e
(A) 24 (A) 24
(B) 16 (B) 16
(C) 26 (C) 26
(D) None of these (D) T § HIE Tl

2 Find the missing number in the following 2. f stiferen goit | ﬁﬂﬂcﬁ T 1A HITT |

number series

» 5,9,7, 10,14, _2 __, 16, 20, 20, 23, 27, 259,710, 14, 2, 16, 20, 20, 23, 27,
28 28

(A) 11 (A) 11

(B) 14 (B) 14

(€) 13 (C) 13

(D) None of these (D) 3T | IS el

SPACE FOR ROUGH WORK / T &Td o o se

. Set-A
9120/ TF-BT/PP-M ?
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3. How many cubes are there in the given 3. 138 T fox # = %I den faa 22

figure ?
B A o
{ 11 73
(A) 14 (A) 14
(B) 15 (B) 15
(C) 16 (C) 16
(D) 17 (D) 17
4. OBDR, QACT, (?), UYAX, WXZZ 4. OBDR, QACT, (?), UYAX, WXZZ
In the series above find which will fill the fr=fafea & 9 @relt wE QT 1 B ?
blank.
(A) ASVD (A) ASVD
(B) SZBV (B) SZBV
(C) RAAV (C) RAAV
(D) SZBU m (D) SZBU

SPACE FOR ROUGH WORK / T% &4 & o™l g
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5.

9120/ TF-BT/PP-M

In the following cube how many cubes
are jointed together to form a big cube ?

—r

(D)

Difference of sums of numbers at
diagonals of the central square is :

16
a2

8

None of these

1 12 15 11
5 2 13 16
8 6 3 14
10 9 7 4

(A) 29

(B) 1

(C) 14

(D) None of these

B,

6.

e 59§ forad B¢ A I THAY SeHT

TF 9 T AT S 7

/1
-
/]

7
(A) 16
(B) 32
(C) 8
(D) T § i TE
Sy =} 3 Pyl T et ¥ At
IR E

1 13~} 45 || 4t
5, 2 13 16
8 6 3 14
.| o 7 *l -4

(A) 29

(B) 1

(C) 14

D) T T FE

e

SPACE FOR ROUGH WORK / 1% &tdl & fera sme
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7. Fi_r_nd correct answer. 7 el I I Elﬂﬁl'lll

3 19 23 3 19 23
7 5 31 29 | - 31 29
w)QHp U@ii?
. 37 39
O . O
AT W ©
741
(D) 7 43
8.  Find the next figure : 8.
= = T q P N
;?i@ai’ e | ? il B INC) ¢ ?
7\ db , i
8) o|@P a) @P
®) AO3 ® O3
© JOI © SOP>
O
D) JOP D) J@p
SPACE FOR ROUGH WORK / % ¥ % fordl Sg
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Find the missing number in the following

number series :

—69-70,-66,57, 2,16

11

(A) 41
(B) 50
(C) 40
(D) 35

COD, BOE, AOF, (?)

Find which of the following comes in
blank space.

(A) XOF
(B) ZOB
(C) ZOH
(D) ZOG

Using the following figures find when ‘3’
is at the top, which number will be at the

bottom.

_

4
(B) 2
(C) 5
(D) 6

——————

9120/ TE-BT/PP-M"

9.

10.

11.

ﬁmwaﬁmﬁaﬁrﬁﬁﬁﬁaﬁ@mamfﬁﬁmw

69, 70, 66,57, _ 2 16
(A) 41
(B) 50
(C) 40
(D) 35

COD, BOE, AOF, (?)
Erfafad o @relt T | = 8 7

(A) XOF
(B) ZOB
(C) ZOH
(D) ZOG

froifrg Fasll 1 9@ % F@ Hifag 6
SF ‘Y TR R, 9 A= HHE Al HF S 7

(A) 4
(B) 2
(© 3
(D) 6

SPACE FOR ROUGH WORK / T &hrd & ford se
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12.  Which is water image of the following  12. %M frefafea #1 st wfafams 372
figure ? |

(A)

(A) v

O
O
o

ACTNL

O

(C) (€)

JE SV " KA

(D) None of these (D) T8 9 IS TRl

13. If‘ELECTION’iscoded as‘'VOVXGRLM’,  13. 3ig ‘ELECTION’ it %ds foar wimar &

then “UNIVERSITY’ will be coded as : ‘VOVXGRLM’ ¥, a9 ‘UNIVERSITY’ i
Fea fwan smam

(A) GMRSVHIFL (A) GMRSVHIFL §

(B) FMREVIHGB (B) FMREVIHGB ¥

(C) FMRSVIHGB (C) FMRSVIHGB ¥

(D) None of these (D) 99 § i el
SPACE FOR ROUGH WORK / 1% &4 & fordt s
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14. What will be the next number in the given

number series ?

5, 16, 51, 198, __{ .
(A) 483

(B) 481

(C) 490

(D) 491

15. Choose the odd one.
(A) 17
(B) 19
(Cy 21

(D) 23

16. Find the next figure.

'g =
"
o

@ 7 a8
® v L E
© 4 &0

(D) All of the above

9120/ TF-BT /PP-M

e —

51555008 11—

14, & TE i el F ST I HIH G E 2

(A) 483
(B) 481
(C) 490
(D) 491
15. fis =1 gial

(A) 17
(B) 19
(C) 21
(D) 23

16. 3Ten fost 9 S |

|| ?
14 /L,

&) o &

® s &

© 4 &0

| (D) 3qdE it
"SPACE FOR ROUGH WORK / T% & & ford s
9 Set - A
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17. Find the missing number in the following 17. = o1 # faqa den 9 wifs )
square.
3 i 3t | 2 3 | 31| 2
13 | ?2 | 21 13 | 2 | 21
20 | 3 | 13 20 | 3 | 13
(A) 12 (A) 12
(B) 2 (B)" 2
(©) 0 ' (G 0
(D) 20 (D) 20~
18. Find the odd one from the following. 18. Tretifea & & o 3@ 4
(A) Book : Page (A) T : 99
(B) Table : Drawer : (B) & : TR
(C) Shirt : Cloth (C) FH : T
(D) Car : Wheel (D) &R : =FH
SPACE FOR ROUGH WORK / 1% &Td & ford o
Set - A 10 | 9120/ TF-BT/PP-M
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19. Find the next figure. 19. TN fo @ HIf9T

SRETEEwE . DL [T
@ (o -- @& {2

e & 2T .

20
31 T 32 012 .2
? 55, ?
B ™ : 2 ™ '
0 16 9 4164 9|0 16
4 4
9 16
® L2
9 16
.'-. 3
© L2
9 16
4 16 4. 16
o) [ (D)
4 9 4 9

SPACE FOR ROUGH WORK / T® & & 7 R

9120/ TE-BT/PP-M 11 Set - A

e —————— e —
—-—'_-—_——_-_-_

Scanned with CamScanner


https://v3.camscanner.com/user/download

2L AL 8B G D have place values like _
- R TN R . then 1, 2, 3, 4, ... , ad
A=-B+F+CxM-V+Y= A-B+F+CxM~-V+Y=
(A) 0 (A) 0
(B) 28 (B) 28
(C) -3 (C) -3
(D) 5 (D) 5
22. Find the missing number in the following =1 stifersk goit | foora e Fma =S
number series :
0,2,4,7,16,20,36, _2 __, 66,72 0,2,4,7,16,20,36, _2 66,72
(A) 71 (A) 71
(B) 41 (B) 41
(C) 60 (C) 60
(D) None of these (D) 3H | I3 78l
- SPACE FOR ROUGH WORK / T T3 % fordl ST
Set - A 9120/ TF-BT/PP-M
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23. Match the figure from the given figure 23. st o1 faam sifsie forad 3ot & de
having same number of slant lines as In i @ @i foat @t fefated EER-EL

the given figure.

(A) | (A) O
o <] o <]

(D) None of these (D) TH | HIS T8

24, Identify the wrong number in the series. 04, i sjwen 9 e i H e |

18, 51, 150, 487, 1338. 18, 51, 150, 487, 1338.
(A) 18 (A) 18
(B) 51 ~(B) 51
(C) 487 (C) 487
(D) 1338 | (D) 1338

SPACE FOR ROUGH WORK / T% &4 & ford s
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25. It°Al,'B,C and ‘D’ mean +’,_ -
and * ><" respectively and if a, b, ¢, d; ...

have p]ace values like 1, 2, 3 4,.

aDxAICfBpCb =

(A) 22

(B)

(C) 0

(D) None of these

26. Find correct answer.

20

, then

g ‘A%, ‘B, 'CC qd ‘D & Y § wE

‘=0 I X AA ARG a, b, ¢, d, ..
F OTYHIE A R 1,2, 3, 4, ... . q9
aDIAICprCb=
(A) 22
(B) 20
< 0
(D) ¥ | FE T
el I T HifSra |
1 0 3 2 5 4 >
/
35;1 50 ?
A E E
¥ 6
Ay ot
g
7 6
(B) Ej
g
7 6
& [
9 G
7 6
D) |o'
G

SPACE FOR ROUGH WORK / 1% &rd & fad s

1 0|3 2|5 4
3 5[){, FF;‘ ?
A % E
T 8
(A) 'QH;'
g
7 6
(B) @
g
7 6
© |4
9 G
7 6
H
(D) |9 ~
G
Set- A

14
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If “ AIRSTRIKE' is coded as “KIRTSRIEA’,

7 afe AIRSTRIKE Y Feos foham S

2.
then ‘PATHANKOT will be coded as : 'KIRTSRIEA” ¥, @ ‘PATHANKOT i
-y e foa T
(A) OKNAHTATP (A) OKNAHTATP ¥
(B) KONAHTATP (B) KONAHTATP ¥
(C) OKNAHTAPT (C) OKNAHTAPT ¥
(D) TOKNHATAP (D) TOKNHATAP ¥
28. 1If ‘rat mat lat tat’ is the code of "Mohan 28. dfe ‘Mohan is very young' I %< T ‘rat
is very young'; ‘tat sat bat fat’ 1s the code mat lat tat’; “Boys may be young’ sl %< ?
of ‘Boys may be young’; ‘mat fat bat cat’ ‘tat sat bat fat’; ‘Mohan may be
s the code of “Mohan may be handsome’; handsome’ &I &< © ‘mat fat bat cat’ ; T
then what is the code of ‘Boys may be ‘Boys may be handsome’” i T T ?
handsome’ ?
(A) cat fat rat sat | (A) cat fat rat sat
(B) rat bat mat tat (B) rat bat mat tat
(C) cat fat bat sat (C) cat fat bat sat
(D) None of these (D) T 9 iz Tl |
SPACE FOR ROUGH WORK / T &4 < ol '
9120/ TF-BT/PP-M 15 Set - A
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29. Three different positions of a dice are  29. T TH %1 i Feorferil 1= &t it ¥ 2 foig
given below. How many dots lie opposite  fawda foram fag w2
to 2 dots ? o p—
. o ® '-:.r
S
(1) (ii) (1) (i) (i) (ii)
(A) 1 (A) 1
(B) 3 (B) 3
(C) 5 (C) 5
(D) 6 (D) 6
30. Find correct answer. g I/ T FHITT |
16 E ﬁ 16 12 ﬁ ?
@ Jx] @ ]
B |[[20 (B) .
(© [20 (©)
CIR o &2
~ SPACE FOR ROUGH WORK / % &1 & fordl wmig
Set - A 16 9120/ TF-BT/PP-M
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31.

3.

33.

SECOND PART"

General Knowledge

Which of the following state is largest in
terms of population ?

(A) Maharashtra
(B)
(©)

(D)

Bihar
Uttar Pradesh
Madhya Pradesh

Which of the following recommended
that multipurpose schools should be
introduced in the school education

system ?
Mudaliar Commission - 1952 - 33.

Acharya Rammurty Committee -
1990.

National Curriculum Framework -

2005.
(D) National Policy on Education - 1965.

How many articles are there in the

constitution ?
(A)

(B)
(C) 435 articles

395 articles

414 articles

(D) 444 articles

9120/ TE-BT/PP-M

17

31.

32

33.

SPACE FOR ROUGH WORK / 1% wTd & ot <7

fedta v

AT [

SeEn 9 e 4 fre | | wF-w T
Had 91§ ?

(A) WU
(B) fo=R

(C) I U=
(D) H¥ Yo

frefataa 9 Q@ e g fawifa =t ot 5
fammerds fien oaaEen § wgsevid fowmera
gty fore s =i ?

(A) WEfEaR wHEE ~ 1952 - 53
(B) amerd T FHE - 1990

(C) T Treg=al I FR@l - 2005

(D) Tt fovem Hifa - 1968

gfger o e T =% © ?

Set- A
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34. Which are campdnentﬁ of 'pr.imary sector

of Indian economy ?

(1)

(ii)
(i)
(iv)
(A)
(B)
(©)
(D)

Agriculture and Animal
Husbandry

Forestry

Fishery

Mining and Quarry
Only (i)

(i) and (i)

(i), (ii) and (iii)

(i), (ii), (i1i) and (iv)

35. In view of structure Meghalaya plateau

is similar in period to :

(A)
(B)
(©)
(D)

Shivalik ¥~
Aravali
Chota Nagpuf

Kumaon

36. What was the revised fiscal deficit rate

fixed for Indian economy in the year
2018 - 197

(A)

(B)
(©)

—

Set - A

3.2% of GDP  «i:
3.3% of GDP

3.4% of GDP
3.5% of GDP

36.

34.

35.

SPACE FOR ROUGH WORK / T% T4 & fe1dl ST

18

T sreferaTen ¥ wofaw &9 % o1 =

qE?

(A)
(B)
(©)
(D)

CHUEBE

HO 4

CEERCERREEE]
w4 (i)

(1) T (ii)

(i), (if) TH (i)

(i), (i), (iii) T (iv)

HEAd mﬂ‘i}:lm 1 gtz | forgs aaeeia

g7
(A)
(B)
(€)
(D)

i~

ST
DI AT
FHY

o 2018 - 19 § WA FisfoTTEE ¥ fou

el TR e 1 o e i

T ot ?

(A)
(B)

(©)
®)

&l |ie] 3eIIR i 3.2 giae
Hehel BRE] IedIe &l 3.3 Ufaem
Tkl H{T] IS I 3.4 faer

Hehel BT ScUIG WM 3.5 gfava

9120/ TF-BT/PP-M
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37,

38.

39.

40.

Who of the following was the leader of
the Oraon movement in the region of
Chota Nagpur in 1914 - 15 ?

(A)
(B)
(©)
(D)

Vishnu Bhagat
Koya Bhagat
Shyam Bhagat
Jatra Bhagat

Old folded mountain is :
(A)
(B)
(€)
(D)

Aravali

Rocky
Andes

Himalaya

Which of the following movement was
inspired by Henry Vivian Derozio ?

(A)
(B)
(©)
(D)

Young Christian Movement
Young Bengal Movement
Young Protestant Movement

Yugantar Movement

What State Gross Domestic Product’'s
growth rate is estimated for the year

2018-19 at
Chhattisgarh ?

(A) 7.08%
(B) 6.08%
(C) 5.08%
(D) 6.58%

constant prices in

37.

38.

39.

40.

1914 - 15 § BT AT &7 H g IS AR
1 a1 Frefafaa 8 9 $F o 7

>} ferfera fset & Frefafaa e e
1 A0 YEH Hl 2

(A) a0 forfaam sTdrer
(B) gA1 ST SR

(C) A1 TR A
(D) iR ST

mﬁ’@naﬁqﬁmaﬁzms-w%
fofu U5 T T TR TR | F g

SHITA ! T & 7

(A) 7.08 gfaewd
(B) 6.08 ¥
(C) 5.08 FieId
(D) 6.58 Fi¥Id

e —————e—e

SPACE FOR ROUGH WORK / 1% &g & o e
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41.

42,

43.

44,

Who amongst the following invented the
e-mail ?

(A) Vint Cerf

(B) James Gosling
(C) Tim Berner

(D) Ray Tomlinson

The theme of 4™ international Yoga Day,
June 21, 2018 was :

(A) Yoga for Soul
(B) Yoga for Peace
(C) Yoga for Health

(D) Yoga for Harmony

At which of the following conference the
Non-Alignment Policy of India was

conceived ?

(A) Bandung conference
(B) Delhi conference

(C) Cairo conference

(D) Manila conference

In the following which oil region is
situated in Gujarat ?

(A) Badarpur
(B) Lunej

(C) Basin

(D) Naharkatiya

41.

42.

43.

44,

Set- A

SPACE FOR ROUGH WORK / T% &1 & ol 97

$-e1 1 wie ey A @ o w82

(A) oz %k
(B) I TiEfein
(C) fem o

(D) X Zmfaam

oY STAUL AT fggg, 21 5, 2018

(C) @ & fag an
(D) SS9

fr=fefea @ 4 form aem § wrg =1 ffe
Hifq 1 IRy g3t ?

(A) =GN T
(B) feeeit e
(C) HIfeq HHEH
(D) wHTeT e

1§ | 91 9 47 o | fred €2

(A) SR
(B) A
(C) =EH
(D) AT

9120/ TF-BT/PP-M
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45.

46.

47.

Assessment for learning 1s to
(A) Provide ranking to the students In
the class.

Create stress among the students.

(B)
(©)

Be done only once in the whole
academic year.

(D)

constructive feedback.

Which of the following is matched in the

context of Head of the House ?

(i) Speaker
Assembly.

of State Legislative

Chairman of State Legislative

(i)
Council.

(iii) Speaker of Lok Sabha.

(iv) Chairman of Rajya Sabha.

(A) (1)

(B) (i) (i)

(C) (@), (i), (i)

(D) (@), (i), (i), (iv)

Who can be removed by Impeachment ?
(i) President

(i)
(iii) Judges of High Court

(iv) Chief Election Commissioner
(A) @)

(B) () ()

(©) () (), (i)

(D) (i), (i), (i), (iv)

Judges of Supreme Court

Improve learning by providing a

45.

46.

47.

# - — e — i

gy ¥ fou e ¢

(A) o5 e § faenfal = ot IS HA
¥ siva 9 fwan o g

2 Faenfeial © A Scae Al ¢

72 R e 9 H Fad Th IR R
ST e |

e T i ST A EC
diEy = G T

(B)
(©)

(D)

e 3 i ¥ wed # e 7 @ o gHied
e?

q) T faum /e TffeRt

() T faem T LSRRI
(iii) IR T T THT

(iv) T&F |H THfd

(A) @)

(B) (i), (i)

(C) (@), (i), (i)

(D) (D), (i), (iid), (iv)

e g fRa ue=aa foan ST Hehdl %2
() T

(i) —FEE AR & T

(i) T AR F AT

(iv) HeA FarE g

(A) @

(B) (i), (i)

(C) (), (i), (iii)

(D) (i), (i), (i), (iv)

ey

SPACE FOR ROUGH WORK / TF @& & ford g

9120/ TE-BT/PP-M

21

Set- A

Scanned with CamScanner


https://v3.camscanner.com/user/download

48. By which of the following West Nile virus 48,

is transmitted ?
(A) Bugs

(B) Sand flies
(C) Muséuito

(D) Black flies

49. What is the annual growth rate of  49.

population in India during 2001 to 2011
decade ?

(A) 1.93%
(B) 2.14%
(C) 1.64%

(D) 1.61%

50. National Council of Educational Research 50.

and Training (NCERT) reviewed the
NCF, 2000 in the light of the report :

(A) Learning Without Burden - 1993
(B) Kothari Commission - 1964
(C) National Policy on Education - 1986

(D) Dr. Radhakrishanan Commission -
1948

Set - A 22

= e foury =1 Swae f A ¥ e

GRIBRI R ?
(A) @IHe
(B) HWUSTHIEH
(C) #=H

(D) =I% FIH

a4 2001 ¥ 2011 & <9 oafy § wria
&I STHEA] I qMYF i AT T/ 82

(A) 1.93 gfaerd
(B) 2.14 wfayma
(C) 1.64 gfavra
(D) 1.61 gfave

U Aferw srgEuE SR wfem giteg
(T.ELEARE) 7 WU, - 2000
Gt form RaR =5t Jert & @0t 2

(A) Toen fomm g & - 1993
(B) ISR FHHIY - 1964

(C) T foram Hifa - 1986
(D) €. YITFOE =T - 1948
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5

52.

THIRD PART

Educational Interest

What will you do as Principal, if a teacher
of the school does not come to a function

of school on time ?

(A) You will ask him to meet you after

the function 1s over.

(B) You will complain this to the
management committee of the

school.
(C) Youwill scold him before everyone.

(D) You will tell him about his
responsibilities.

Which of the following attributes would

correctly define learning ?

(A) Understanding, jmagination and

workmanship.

(B) Change of behaviour, practice and

experience.
(C) Belief, creativity and endurance.

(D) Intuition, and

Memorisation.

Intelligence

SPACE FOR ROUGH WOR
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K / T% 14 & ford ST

(A) FrdEy H ST & I SH Eh
J fgem &1 Fel |

B) foemera &1 g gfafa w1 gH®I1
ticapnicaul
() wt F TE I < |

(D) g I SAE SawtaEl & fawd H
AT |

Freifind & @ FIF =1 O ST Rl HR FY

F qfesnfoa FIa1 8 2

(A) rEEy, FTATSIedT Td gl

(B) oHOER H e, Y T AN

(@) feyvars, YSHICTRA T8 FEeiierdl

(D) ey, SfeH T T
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53.  Which of the following is not an output ~ 53. 94 & ¥ ¥ = ‘ aeeye feaga’ Wi ¥
device ?
(A) Printer (A) o= -
(B) Speaker (B) Fe
(C) Monitor (C) =i+
(D) Keyboard (D) wEE
>4. What should a teacher do when  54. U fo1er il 91 w1 wifew 9 whemd fige
examinations are near ? =2
(A) Complete the syllabus by calling (A) ﬁﬂﬁﬁfﬁwﬁﬁmww
students at his home. qul AT AT |
(B) Complete the syllabus by devoting (B) Tammerm | sifafaa woq RIGRE L]
extra time in school. T{?’i LT T8 |
(C) Ask the students to complete the (C) Toenfai =t @4 o1 BICRERR L ETe
syllabus themselves. 1 FET =1feT |
(D) Help them solving with important (D) fl%ﬁ"{”f U I T B A AR
questions. BEECIETCIRCI T
55. It is said that there are individual  55. %%l a1 ¢ for U e § faenfela & we
differences among students in a class. The Jafeas fafvmmmd o=t st § 1 T aem &
fact is :
(A) Great hinderance to teachers in (A) Tago § fnem %ﬂ Teh Sl a7 §
teaching,.
(B) A suggestion for teachers to be (B) fTwerw & = forernl =1 wym @
careful in teaching. o U g9E T
(C) Purely a historical evidence that is (C) uia: T Uit g1 & i adtam
outdated today. H sy=fed €
(D) Supported by lazy teachers to find (D) TH sTerst frerni gro wwfefa st eroeh
excuses for their weaknesses. FHSIE! & fTU F1E sem@ 59 9%
2l
SPACE FOR ROUGH WORK / 1% & % fod g
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56.

57.

58.

The concept of practical intelligence is

given by
(A)
(B) Sternberg

(©)
(D)

Gardner

Piaget

Binnet

Techniques used by a teacher to ‘teach

include :

(a) Lecture

(b) Interactive lecture
(c) Group work

(d) Self-study

Select the correct answer from the codes

given below :

(A) (@), (b) and (0
(B) (a), (b), (c) and (&)
(©) (b), (©) and (d)
(D) (@), (b) and (d)

Which of the following statements about

teaching aids is the most correct ?
(A) They help in retaining concepts for

longer duration.
(B) They help students learn better.

(C) They make teaching-learning

process interesting.

They enhance rote learning.

(D)

9120/ TE-BT /PP-M
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56.

a7,

58.

e ———
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Wﬁ%maﬂﬂﬁaﬁaﬁrﬂm
Hﬂﬁ?ﬁﬁlﬂﬁ%

(a) TF
(b) T fRaTeAe T
(d) E-JA¥IT

) fody T ol T D R ST 9

(&) (@), (b) 4 (c)
(B) (a), (b), (c) T (d)
(C) (b), (c) T (d)
(D) (a), (b) 1 (d)

e § Q F 91 FHY e WeEE (aids)

arft ¥ fore e ST w2

(A) 3 Tl F SR T A T A
T B 9erdd 1l © |

(B) 3 oE ) Yew ded § werEd w5l
I

31 Foreror- e7ferTa TfEFA I BrEHt I

€

3} ‘Y2’ sfend TR T

__—'

(€)

(D)
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60.

" (©

t ,461.r '

(D)

Children of today are under greater

' emﬂﬁﬂnal. stress than the emotional stress
- of children a century ago. Why ?

(A)
(B)

Society today is more complex.
Bonds with members of the family
are weakened.

Schools have not adjusted to
children.

Parents take less
children.

(©)

interest in

(D)

In context of the habit of Absenteeism of

student :

(A) The principal and parents should
get worried.

The officials of the schools should
take action against them as per

(B)

schools discipline.

The teachers should take it as a
serious problem.

They should be given less priority
in the classroom in relation to

(D)

regular students.

One fundamental principle of motivation
which inspires students to work harder
is when :

(A) Students set their own goals

(B) Students follow reasonable goals set
by others

(C) Students know that punishment
may follow

Students know they will receive

rewards

SPACE FOR ROUGH WORK / T8 &1l & ol s g
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60.

61.

A = Toh vdrsal 9ol i o | S
IEARTF SO | T 4 2

TS &1 TS 31ferh Sifee 1
JfiaR & U5 & 919 G4 HHSR o

TCE|
forenera s & o amfea 78 &

(A)
(B)

(©)

(D) s =l | %9 B o €

(A) wrEr wE sifywEsi &t fafaa @
Hifed |

forenera sTIemeT & STTER st
Fl HF f9es wrdaEt s wifeu)

(B)

forerenl =1 380 U TR gHen % w9 W
&A1 =feu |

Frafia faenfe= ot qerm o 37 faenfRi
&l S H HH WgfHma < S =R

(©)

(D)

SATGTN 1 T et frad s sl &) wfe
99 1 & fou Srehifaa i & 9id -

B A1 g W fHiyea &@ )
BT 311 g Fiy=a adhawa oea +1

STTEOT LA © |
BE WA ¢ 16 5 grIfaa g |

(A)
(B)

(©)

(D) BE SFA & foF § TOER oI S8 |
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62.

63.

What is the name of a system of
instruction that seeks to enable all
students to achieve instructional objectives
by allowing learning time to vary ?

(A) Corrective instruction
(B) Insight learning

(C) Mastery criterion
(D)

Mastery learning

You have a class which 1s very
heterogeneous in height. You should

allow a seating arrangement .

(A) Which is random.

(B) Where smaller students are allowed
to sit in such a way that they can
see and participate easily in class
actively.

(C) Which is purely based on height.

(D) That has taller students on one side

of the class.

9120/ TE-BT /PP-M
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62.

63.

RK/wmﬁﬁqﬁéW

=g Frder o & 0 A S T BE
s T § fusn 1 3o St R
w1 F UT FE T HE €7

(A) GurReEs
(B) oTigre SAfHTH

(C) FYerl (Mastery) FHR

(D) FHyredl (Mastery) AfeH

sTat e forenfddl 1 e @i gfe §
ST fag &1 T oG TR & SIS AT

I arHfa &1 ?
(A) FRDH

(B) el SR e & faenefl w@ yEw fao
st o & e Y TfafafeEl i we
g @ OF T4 GeMIiTal e |

(@) tﬁ[wﬁﬂ_mﬁ%ﬂrgm
st o

(D) et srereen fored wa & <4 foend
T 3R HS |

____ﬂ
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64. Which of the following is most

65.

appropriate about your honesty ?
(A) I am the most honest person.

(B) Thavedone all my tasks with a sense
of duty.

(C) I never accepted any gift for any
work.

(D) I have turned down so many
tempting offers.

Sunday night, Neha studied for a test on
Monday morning. She remembered the
material quite accurately on Monday and
got on A on the test. However, when she
took a review test two weeks later, she
could no longer remember the same

" material. How far in Neha’s memory did

the material get ?

(A) It reached her sensory register
(B) It reached her working memory
(C) It reached her long-term memory

(D) It never got into her memory at all

66. Teachers who are enthusiastic in

" classroom teaching they :

(A) Simply dramatise to hold the
students attention.

(B) Often loose proficiency in the
subjects which stay hidden under
their enthusiasm.

(C) Involve the students in teaching-
learning process.

(D) All of the above.

64.

65.

66.

1 o 9 Tl SHECER & 9aiad 9 o

Hei¥id FT ©

(A)  # waifas $amer =fF T

(B) H 2T WR 1 qui wHaeatTal | fRe
gl

(C) 7 fordt of 1d & fow +oft off %
39eR el faar €1

(D) A 3 UEH TSl Fl STETHR
F fear B

foar #t Td &l 78 7 HAR H GG F
foau s1emge foram | 9aR &1 39 99 3 9
g% @1 991 39 udfen d 39 ‘U’ 9 ge |
T, ST 3 F<il8 S8 397 G aherr fa,
39, TG T HIE TR AR TR @ AR
wfa H 98 AT &I TS AR F7l a6 TS 7

(A) 98 SHF WAfqH YRl a6 qgi |
(B) % 39&! 'afd HERY’ % gl |
(C) % 3GH! SrHwIcd i aF Tgdl |
(D) % 3T Wia a Heft 7& g |

ey Toreyor W U freres i Scuel B § A

(A) foenfeal =1 eqm sTwfda F Bq
GTerar ¥ AEHTg Y] Fld © |

(B) UM 39 Wl H U7 I Todl g8
foreraTa <& sl @l <d B

(C) ToenfeAi =t freror-srfums fman +
eI &I & |
(D) SYUF g+t
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67.

68.

69.

Which of the following cognitive abilities
is of the highest level ?

(A) Knowing

(B) Understanding
(C) Analysing

(D) Evaluating

What 1s the most effective way to reform
the aggressive behaviour of a child ?

(A) He should be kept in isolation.

Reasons for this behaviour should

(B)

be investigated.

(C) He should be pufﬁéhed severely.

(D) He should be ignored.

If a student does not pay any respéct to
you, then you will :

(A) Ignore him
(B) Award less marks in examination
(C) Talk to his/her parents.

Rebuke him

9120/ TF-BT/PP-M

67.

68.

6o, iz T Frenefl s WA T @Y, A

et § 9 9 9 HIERIS & SEAH R}
w872

(A) A
(B) THFAI
(C) Tagerwor &E

(D) AR HTA

I ¥ SHHE FIeR P YU H T
TN TR © :

(A) IR THH! TE AR

(B) ¥ =R & s fol HRoll ®i S
FHAT 180 |

() < For | <feq feman ST =

(D) 9 sTR@E fan S e |

AN

(A) T TSRS FT

(B) e ¥ W i WEH

(C) TEF Ul 9 WM L
(D) 3 ®HRA

——#

-
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70. The best method of checking student’s 70. Taenfdai & Tewd 1 919 #1 waw fafy
homework 1s : T
(A) To assign it to intelligent students (A) &1 F qfgam & 5 Sre & Hd
of the class. T
(B) To check the answers in the class in (B) HMfesh &1 QY e H SR Y S FHEAT
group manner.
(C) To check them with the help of (C) eyl ST I Werar | S & |
specimen answer.
(D) To check by the teacher himself in (D) Trafia &9 4 g & g0 =Y SIE|
a regular way. H{AT |
71. A reward that is external to the activity, 71. TH QR S ﬂﬁrfﬁlﬁl & fou smr g <9
such as recognition or a good grade is gAY A% 3T AOM,
called N & |
(A) An intrinsic incentive (A) AR AR
(B) An internal drive state (B) &AIafieh 3QIe ST
(C) An extrinsic incentive (C) aRl Yiedrsd
(D) A primary reinforces (D) WAHF gAsier
72. Which quality is most important for 72. foenfai & fog waifaes II%?EIT’f Liig] e
students 7
(A) Hard work (A) e 9w
(B) Obedience (B) HRTHIE
(C) Humility (C) T
(D) Independent thinking (D) H@dF fedA
SPACE FOR ROUGH WORK / 7% &Td & fod s
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73

74,

79,

Behaviourists proposed that to study
learning in an objective, scientific manner
they must focus on two key things that
can be observed. What are they ?

(A)

(B)
(€)

Attention and Memory
Responses and Stimuli
Responses and Behaviourism

(D) Memory and Response

Classroom teachers have which pair of
qualities under their direct control ?

(A) Incentive and appropriateness of

instruction.

(B) Room temperature and lighting

©)

Student’s attention and quality of

mstruction.

Seat time and student’s attention

(D)

If the students of your school are not
interested in doing work jointly, then what

will you do ?
(A)

All the teachers work jointly before
them.

Tell them about the importance of

(B)

working jointly.
(©)
(D)

Present examples related with it.

Suggest them to read books on this

matter.

9120/ TF-BT/PP-M
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73,

74.

o,

(A)

SraEREmE! T FUH ¢, fF sttt 1 S
1 IS T ¥ AwEd w6 A Q
JE =S 1 e AAEE €, A T 7

(A) SFIUM 91 T
(B) STfRal qe SETH

wen forers & T = | g oA 3uh
yegey Frasor # gt © 2

Treared Td Ry i SHgE
(B) & WTHHH T TN

(C) BT STHM qen e =l o

(D) ‘Hi' wg qg1 BT AU

Afe o foamer % o fHe-ae w1
F § He Hiegd € &9 =1 H30 7

gaft firers foer-<ere) BT & 99 d
capicxal

(A)

(B)
THZ |

T Heifoa ST T H |
39 fawa W T Tg H Fel |

(©)
(D)

Ep— g—
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76.. Priority to girl education should be given

77

78.

- (B)

because :

(A) Girls are more intelligent than the

boys.

The girls are lesser in number than

boys.

The girls were badly discriminated

(©)

in favour of boys in the past.

Only girls are capable of leading for
social change.

What is a strategy for accommodating
instruction to student differences ?

(A) Psychoanalysis
(B)

(C) Between, class ability grouping

Student’s T distribution

(D) Administering intelligence tests to
all students in class.

—

What are some ways for a teacher to
include visual imagery in his/her lesson
plans ?

(A)

(B)
(€)

Pictures
Maps
Graph

(D) All above

76.,

772

78.

Set - A
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(A) TR, STerRi 9§ i FfgHH
2l *

AT, ST 9 TN H H9 ¢ |

(B)
AT T STerhl Bt qor § afasTs
o T YguTd 1 TR B of |

Fae IfTHd B QTS IREET
g F W e

(©)

a13 fafism & oar e s &1 @
1 a § 2

(C) TET-HE Al TR

(D) el & |t B W g e H
TYntad T

w e & U o ue w1 dee s
T gfe afqar =1 wite &3 3 99 9
qTaF &2

(A) - T
(B) TR
(€) T
(D) 3WIF H4l
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79. A lesson that is developmentally 79,

appropriate for adolescents would be
characterized by __

(A) Using flash cards for review

(B) Memorization of fundamentals

(C) Steady growth in understanding
and capabilities

(D) Repetition of important facts.

80. Dyslexia is associated with . 80.

(A) Mental disorder
(B) Behavioural disorder
(C) Reading disorder

(D) Writing disorder

9120/ TF-BT/PP-M 33
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(C) T97 a1 &A1 H 9aq Iis FE

(D) W@ AL H AR

fegaifrr 9 Geifud €

(B) =TERIHS fasfd
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81.

82,

83.

FOURTH PART/=qgd WM
qrar= et

=T ¥ fhFat YRR € 2

‘H 8 strar fo 9 el §F 39 9 H
frafafed § 9 9 9 3@ 2

(A) HITH - YA

(B) HT - SUATH

(C) e fosioor - SqaTRa
(D) favrwor - SqarH

‘Y@ - TF I U= Rl rdaren fasmed
I

(A) {T-d
(B) T - (A
(C) St -gmm
(D) fa& - =g &

34.

85.

86.

forerenfeaies fog (1) =1 ¥am g e :
(A) 319 | 92 I el FEd w1 o
(B) el feafa fafy=a A =1

(C) T i guUidl W

(D) o | 3T 91l 3749 & T

TS HI WS ] WHTG X T i 14 hl R
F 916l HeEd ©

(A) fau =t e @] HwT

(B) T I3 FR & 5 | I IS
(C) A WS 7 et S

(D) <4 Fewsdl, 7 WE A

‘il § Ted g A T R A g
fasredi § T 1 wEiFerEt w=s 9

(C) orRfiToit

(D) SRt
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g7 el T O ¥ o RO e H 3T 89, ToRAEas - faioor & feha HR B2
yaferd @

(A) &

(A) T SR .‘
(B) &

(B) STl A &

; (C) dH

(C) i@ fasr
D) =R

(D) gF H AMERA FHTT (D)

g8 T add T W= T T HIR 90. ‘YU ¥ el T WAl THAR W A=A _

(A) FrESITe (A) FATA

(B) ArESired (B) HgaTA

(C) ATeEsitar (C) wHHareA

(D) Fresitad (D) S |l

- il - = =
—
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FIFTH PART /U099 YTT

General English

91. Choose the correctly spelt word from the
following :
(A) Aparthied
(B) Apartheid
(C) Aparthed
(D) Aparthad
92. They __ getwetifit
Choose the most appropriate words to fill
in the blanks in the above sentence.
(A) Will/rains
(B) Will/rain
(C) Will/rained
(D) Would/rains
Set - A

93

94.

Choose the most appropriate answer :

‘Is swimming good for health’ ?

In the above sentence, the underlined

word swimming is used as :

(A) Present Progressive (Present
continuous)

(B) Gerund

(C) Present participle

(D) Past participle

Choose one word substitute for one who
is centre of attraction :

(A) Centrefugal
(B) Centripetal
(C) Cynosure

(D) Cytocentric

36
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-ad the following passage and answer the ~ 95. What helped the Indians to conceive of a
iestions 95 - 97 based on it. notion of the Englishmen ?

Today I, Rabindranath Tagore, complete (A) Their advanced weaponary

ochty years of my life. As I look back on the (B) Their literature
st stretch of years that lie behind me and see

clear perspective the history of my early (C) Their orders
svelopment, I am struck by the change that

s taken place both in my attitude and in the (D) Their administration
yychology of my countrymen-a change that

rries within it a cause of profound tragedy.

96. Who could gain from English literature ?
Our direct contact with the larger world

men was linked up with the contemporary (A) The educated Indians
story of the English people whom we came

when know in those earlier days. It was (B) allthe Indans
ainly through their mighty literature that we

und our ideas with regard to the newcomers

(C) Only writers such as Rabindranath

Tagore A
our Indian shores. In those days the type of

arning that was served out to us was neither (D) None of the above
lentiful nor diverse, nor was the spirit of
ientific enquiry very much in evidence. Thus
eir scope being strictly limited, the educated

- 97. Wh hes did Tagore listen to,
those days had recourse to English language fpe gpeechics dad Logoe U i0-an

boy ?
1d literature. Their days and nights were
oquent with the stately declamation of Burke, (A) Shakespeare’s
ith Macaulay’s long rolling sentences;
scussions centred upon Shakespeare’s drama (B) Byron's
'd Byron’s poetry and above all upon the
rge-hearted liberalism of the nineteenth (C) John Bright's

ntury English politics. ) Macalays
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In questions 98 - 100, each passage

consists of six sentences. The first (S1) and the

sixth (56) are given the beginning. The middie

four sentences in each have been removed and
jumbled up. These are labelled P Q R S. Choose
one of the four alternatives given below every
passage which would be the most logical
sequence of the sentences in the passage.

98. S1.:

56 :

(A)
(B)
(©)

(D)

Set - A

The coming of the computer
sparked the need for remotely
operated controls.

The code is based on binary digits.

It is silicon chip that is at the heart
of the remote control.

This produces an infra-red beam,
which is made up of

electromagnetic waves.

When you press the button on the
remote control, the chip sets off an
electric vibration.

The beam carries a coded signal
such as switch on, raise volume, etc.

PORS
PQSR
PRQS

RPQS

9.

S1 : Health is the most valuable of all

earthly possessions.

S6 : The man who does not overeat rises
early in the morning at ease with

himself.

P: To enjoy good health we should
refrain from excess in eating.

Q : Otherwise we will not get sound
sleep.

R: We would eat only moderately and
not devour whatever we get.

S: Without it all other possessions are

worthless.
(A) QSRP
(B) QSPR
(C) SPRQ
(D) SPQR
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100. S1: There was a dacoit who uéed to rob
rich pEDplE.

S6 : He robbed rich people again.

P: Once the Police managed to capture
him.

Q: He was sent to prison for 10 years,
but he managed to escape.

R: He helped the poor and the needy
from the money so obtained.

S: The court which tried him found
him to be guilty.

(A) RPSQ
(B) RSQP
(C) RPQS

(D) PQRS

-00o0-

ﬂ

#---
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I 3ifehd & HTEAT : 2 °9S stfirehay 37 : 100
Hours

Time for marking answers : 2 Maximum Marks : 100

qe

1. wm—g@mﬁmmaﬁ
(i) WerH W : WHT HiAHeR g - 30 31k
(i) Tgda ¥mT : W= A - 20 3k
(i) e umT : freror et - 30 31
(iv) orqel uTT : | fEEt - 10 37k
(v) UM W W SAUS - 10 31

T YY1 3% 1 &1 |t 9 ga FHE Afard B
2. Y % W & T OMR SWR-¥iE (S wie) W Afwa wifoagl
3. TRUNE: Jodiech el [ehal SITa |
4
5

ferdt off 9 F FerFerex A1 A L9e Ud HIsTgel hiA & WA afid ¢ |

OMR ST-317 (iEE 92) =1 T 1 999 U FiE Sy 3 Fi/a9w N9y 98 % 51 O
=5 T 1 faeee anfe us o f5ras werasy 98 e @ 5 |

Note

1.  This Question Booklet consists of Five Parts :
(i)  First Part : General Mental Eligibility - 30 Marks
(i) Second Part : General Knowledge - 20 Marks
(iii) Third Part : Educational Interest - 30 Marks
(iv) Fourth Part : General Hindi - 10 Marks
(v)  Fifth Part : General English - 10 Marks

Each question contains 1 mark. All questions are compulsory.

2. Indicate your answers on the OMR Answer-Sheet provided.

3. No negative marking will be done.

4.  Use of any type of calculator or log table and mobile phone is prohibited.

5.  While using OMR Answer-Sheet care should be taken so that the OMR Answer-Sheet does
not get torn or spoiled due to folds and wrinkles.
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PRe BEd EXAM (BDED) - 2019 (MODEL ANSWER)

Sub. Code - 9120/TF-BT/PP-M (MORNING SHIFT) SET-A
Qu.| Ans. | Qu. Ans. Qu. | Ans. Qu. Ans. | Qu. | Ans. | Qu. Ans. Qu. | Ans. |Qu.| Ans. |[Qu.| Ans. | Qu. | Ans.
1A |TM].C |#1|. B |#1|.€C A D:|51| D. |&1| D |711]| €. I151]. B - |91]. B
2| Cl|12| B |22| B |32| A-|42|.B-|52|.B |62| A |72] D |82|.B |92] A
3| B|13| B |23| C |33| A |43| A |53]| D |63| B |73| B |83| C |93| B
4| B |14 B |24| C (34| D |44| B (54| B |64| B |74| C |84]| A [94]| C
51 C |16|. C. |258] A-|36| C |456| D |65|. B |65| B. 1761 A ' |ssl. C |95 B
6| C|16| A (26| D |36 | D |46| C |56|] B (66| C (76| D |86| D |96| A
7| D 17| B (27T A |87 | D- 47| A |67 A |67| D (77| B 187]. C |sr] €
8| Cj18| C |28] C- |38 | A |48| C.|58| B |68| B |78]| D-|s8| B.|98| C
8| A-{19] A |29} C-{ 39| B-|149|-€C |59] A |69 A {79] C |89| B |99 C
10| D (20| B |30| C (40| B |50| A (60| C |70| D |80| C |90 A (100 A
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PRe BEd EXAM (BDED) - 2019 (MODEL ANSWER)

Sub. Code - 9120/TF-BT/PP-M (MORNING SHIFT) SET-B
Qu.| Ans. | Qu. | Ans. | Qu.| Ans. | Qu. | Ans. | Qu. | Ans. |Qu.| Ans. | Qu. | Ans. [Qu.| Ans. [Qu.| Ans. | Qu. | Ans.
1. B B || C. || C 1| B [61] C ' |61| D.|73| A-{81|.B [91] B
2| C |12 C (22| C 32| D (42| A |52| D (62| A |72| B |82 A |92 B
3| C|13| D [23| B (33| D (43| B |53| D (63| A |73| B |83 C (93| A
4| B (14| A |24| A |34 | D (44| C |54| B |64| B |74| D |84| B |94| C
5| B |15| C |25/ D (35| B (45| B |55| B (65| D |75| D |85 A (95| C
6| C|16| A |26 B (36| C (46| A |56| A (66| D |76 C |8| C (9| B
B Col2T1 B |37 | C |41 D |5T| B |6T]. B |77 A |87 C-|97| A
8| C|18| C |28| B (38| C (48| A |58| B (68| C (78| C (83| B (98| C
9| B [19] A |29 C [39| A (49| A |59| B |69| D |79| C |89 B (99| C
10| A (20| C |30| A |40| A |50| D |60 B |70| B |80 C (90| D |100| A
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PRe BEd EXAM (BDED) - 2019 (MODEL ANSWER)

Sub. Code - 9120/TF-BT/PP-M (MORNING SHIFT) SET-C
Qu.[ Ans. | Qu. | Ans. |Qu.| Ans. | Qu. | Ans. | Qu. | Ans. [Qu.| Ans. [Qu.[ Ans. [Qu.[ Ans. [Qu.| Ans. | Qu. | Ans.
11 C |11 C |21| A |31| A (41| B |51 B |61| D |71| C |81 B [91]| .C
2| B |12]- B (22| D |32]| C |42 A |52] C |62| B |72| D (82| Cc |92]| A
3| A |13 A |23 A |33 ] A |43| C |53| . B |63| B |73| Cc 83| B |o3! B
4| B |14| B |24| C (34| B |44| B |54| D |64| B |74| B (84| B |94| B
S| B |[15| C |25 C |35 | D |45| D |55| B |65 A |75| D |85/ B |95| B
6| C[16) B (26| A |36 | D (46| A |56] C |66 A |76| D |86| D |9¢6| C
Tl Y] D 1271-B. || C |47 A 167 € |67 D |7 B.Ila7l & |92l A
6| B |18] D (28] C. |38 | D |48| B |58| D |68| C |78] A |88] C |98| A
91 8 ]19| €. [29] C {39 | C |49 A |59 D |69| B |79 B |89 A 99| €
10| A'J20] C (30| C |40 C |50| D |60] A |(70| B |80| A |90| C [|100| C
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PRe BEd EXAM (BDED) - 2019 (MODEL ANSWER)

Sub. Code - 9120/TF-BT/PP-M (MORNING SHIFT) SET-D
Qu.| Ans. | Qu. | Ans. | Qu. | Ans. Qu. | Ans. | Qu. | Ans. | Qu.| Ans. Qu. | Ans. | Qu.| Ans. |Qu.| Ans. | Qu. | Ans.
11LA|B|. C ]| B[] D |#|.C|s1|-D (61| D |1 D/81| B |91} B
2|-C.|12| € |22| €C |32]| B |42| C |52] € |62 D |m2| D-|82] € [92] €
3| A|13| D |23| B |[33| A (43| A |53| D |63| B |73| B |83| B |93| B
4| B |14 C |24| C |34 | A |44| C |54| B |64 D |74| B |84 A |9| A
5| D |15| A |25| A |35| C (45| A |55 C [65| A |75| B |85| C |95| A
6/ D|16| C [26]| A |36 | D (46| D |56| C (66| C (76| B (86| C (9| B
7| B W € j271| C |37 | A |47 A |6T|-B |67T|-C (77| C: (87| B |97] C
8| B |18| B (28| C |38 | C (48| B (58| A (68| A (78| B (88| A |98| C
9| C[19] C |(29| B [39| D |49| B (59| D (69| A (79| B (89| D |99 C
10/ B |20 A [30| B |[40| B (50| D |60 A |[70| B |80| B [90| B [100] A
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